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Section 1 - General Aptitude-English Subject

1) Read the passage below and answer the question
that follows :

The ravages [of the storm] were terrible in
America, Europe, and Asia. Towns were overthrown,
forests uprooted, coasts devastated by the mountains
of water which were precipitated on them, vessels cast on
the shore, whole districts leveled by waterspouts, several
thousand people crushed on land or drowned at sea; such
were the traces of its fury, left by this devastating tempest.

What is the meaning of the word leveled as it is used in
the passage?

A) razed
B) marked
C) spread
D) raised

2) Rearrange these parts labelled A, B, C and D to make

a meaningful paragraph, and choose the most
appropriate answer.

A. One of the beauties of Leo Tolstoy’s novel 'War and
Peace' is that it does not end when the war ends.

B. It ends instead when the hero gets married, and settles
down to a life of routine, even boredom.

C. In conveying this ceaseless ebb and flow of life, Tolstoy
captures its very essence.

D. Concluding it at the moment of heroic drama would have
destroyed the integrity of the novel.

A) ABDC
B) CABD
C) ADBC
D) ABCD

3) Synonym of vent

A) Wet
B) Dent
C) End
D) Opening

4) In the following question, four alternatives are given for
the idiom/phrase italicised and underlined in the
sentence. Choose the alternative which best expresses the
meaning of idiom/phrase.

This is in_ vogue in some communities.

A) in fashion

B) out of use
C) vaguely used
D) never used

5) Find out whether there is any error in any part of the
below sentence. If yes, indicate the correct answer among
the given options, else indicate "No error": | visited Ricky's
and Maria's house (1) / twice but didn't (2) / find the
couple. (3) / No error (4)

A) 1
B) 2
C)3
D) 4
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Section 2 - General Aptitude

6) Which of the following is the Civilian award conferred as
1s'degree of honour?

A) Padma Vibhushan
B) Ashoka Chakra
C) Kirti Chakra

D) Bharat Ratna

6) Feifaf@d # @ @la-ar AEREe &R Fafed
TFAT & & H Y&l fomar Sirar g 2

A) gegr fysgmoT
B) 3reMer =k
C) HfF =
D) siRa =

7) Green India Mission was launched in 2014. The primary
aim is to

A) promote green energy in India.

B) promote techniques that will help in the optimum
utilisation of resources.

C) protect, restore and enhance India’s diminishing forest
cover.

D) None of the options.

7) gRd $Rd fAwe 2014 # & fovar smr ar | gHer
YA 366T AT § -

A) sia # gRa S &I Ferar &
B) 351 Gefiapt I erar o St HwTHer & IejgeraH
3UAT H HAcg FAN

C) oid & gcd aof & & @7, (e 3R gef
T

D) #1¢ RQerea e

8) A man sitting in a train which is traveling at 50 kmph
observes that a goods train, traveling in opposite direction,
takes 9 seconds to pass him. If the goods train is 280 m
long, find its speed in kmph?

A) 60
B) 62
C) 64
D) 65

8) 50 kmph &r 1fd & T W ¢oT H doT TH AGH
2Ear & F Aula fem & I W T ATEmE 3@ UR
FXA H 9 Hhs &I AT ol § | IfG ATEmEr 280 #Hex
e g, ar 39 Afd kmph & F1q fifsw

A) 60
B) 62
C) 64
D) 65

9) A man's speed with the current is 15 km/hr and the

speed of the current is 2.5 km/hr. The man's speed against
the current is

A) 9.5 km/hr
B) 10 km/hr
C) 10.5 km/hr
D) 11 km/hr

9) ERT & HTY Ueh SHT &1 afd 15 km/hr & 3R aRT &
afd 25 km/hr § | 9T & faweyr 3meeAr dr aifaq &= gl

A) 9.5 km/hr
B) 10 km/hr
C) 10.5 km/hr
D) 11 km/hr
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10) In an election contested by two parties, Party D
secured 12% of the total votes more than Party R. If party
R got 132,000 votes and there are no invalid votes, by how
many votes did it lose the election?

A) 300,000
B) 168,000
C) 36,000
D) 24,000

10) & &ell G@RT oS AT Faoarg A, 9TEf D F Uit R § e
aret &1 12% 31f8% ureg fFar | afg ot R &1 132,000

de A 3R FS 3\ dc AT &, o [Fda der a9
AT gR ?

A) 300,000
B) 168,000
C) 36,000
D) 24,000

11) The following series is based on a specific pattern. Find
the next number in the pattern.

5,12, 23,50, 141, ?

A) 415
B) 430
C) 439
D) 488

11) TF=faf@d H@er wh faRise Yoot W ImaRa § |
Yoot 7 39T FAeR @ |

5,12, 23, 50, 141, ?

A) 415

B) 430

C) 439
D) 488

12) When 0.36 is written in simplest form, the sum of the
numerator and the denominator is :

A) 15
B) 34
C) 64
D) 13

12) 919 0.36 & TWoIdd & F for@r Jrar g, ar 3ier 3R
& &1 T fohdar ghem

A) 15
B) 34
C) 64
D) 13

13) In November 2021, ................. hosted the first fully
digital Asia-Pacific Economic Cooperation forum.

A) New Zealand
B) India

C) Canada

D) Australia

13) sasy 2021 #, 6 U & Ugel aR U g &
3foee vfir-gena 3nfde agakr @ fr AsEEy 7

R) et
B) stra
C) shrar
D) sifeeforar

14) If GOODNESS is coded as HNPCODTR, then how
GREATNESS can be written in that code?

A) HQZSMFRT

B) HQFZUFRTM
C) HQFZUODTR
D) HQFZUMFRT
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14) af& GOODNESS &I HNPCODTR & ¥4 #H @Ifsd

fRaT ST §, dF GREATNESS & 39 &5 & o foar
ST bl & ?

A) HQZSMFRT

B) HQFZUFRTM
C) HQFZUODTR
D) HQFZUMFRT

15) A merchant can buy goods at the rate of Rs. 20 per
good. The particular good is part of an overall collection
and the value is linked to the number of items that are
already on the market. So, the merchant sells the first good
for Rs. 2, second one for Rs. 4, third for Rs. 6...and so on.
If he wants to make an overall profit of at least 40%, what is
the minimum number of goods he should sell?

A) 24
B) 18
C) 27
D) 32

15) Tsh SUURY 20 U Yid g # X F A WG
Hehal § | @6 ATl HHAI 3Toholel &1 BEAT & AR Hed
3o JEGIHT BT HEAT F ST I & SN T F @ R H
¥ | safdw, @l 9get AT @ 2 TOT A+, g T 4
FIU H, A A 6 IAT A .. 3R 3 Rg dTar g | I
a8 Fel AR HF A HH 40% T T HAAT g g,
L 38 &H F FA fhdar AT ST Aifge ?

A) 24
B) 18
C) 27
D) 32

16) is a numerical label assigned to each
device participating in a computer network.

A) E-mail address
B) Topology

C) FTP

D) IP Address

16) oo Teh HEICHS olddl § Sl $Hged sicds &
Jcdeh 3YRIOT I AT ST &

A) &R qar
B) arareivett
C) uwerdr
D) 3édt war

17) If 17t March 2008 was Monday, what was 1st April
20127

A) Sunday

B) Wednesday
C) Friday

D) Saturday

17) afe 17 AT 2008 #F TWHAR 4T, aF 1 3T 2012 FHr
T AqT ?

A) tRar
B) qerar
C) ypar
D) efar

18) Headquarters of World Trade Organisation

A) Washington DC, United States
B) Geneva, Switzerland

C) Paris, France

D) Vienna, Austria

18) faed =TTIR HaTdeT T HEITT gl ¢ :

A) qifdfarest S, TgFT ToT AR
B) Siefar, feaeerels

C) ofw, wiw

D) T, 3ffegan
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19) There are 24 students in dance class, and the teacher
is planning for an arrangement of students on stage.
Sampratha is 9th from the left side of the row and
Supreetha is 22nd from the right side of the row. Find the

number of dancers standing between Sampratha and
Supreetha?

A) 4
B) 5
C)6
D) 7

19) Teh 3JcT HeM H 24 o ¢ 3R Rgth #T ® oHE &
TIGTAT HfT AT §o17 QT § | TIAT dfFd & a8 3R
¥ aAld T W AR gohar dfFd & @ 3R @ 229
WA W R | Fwr 3R glar & dw @3 aAdieat f
HEIT AT ST

A) 4
B) 5
C)6
D)7

20) Mrs.Veena wants to go to the Krishna Rajendra market.
She moved northwards and after covering some distance
turned left and moved 4 km and reached a crossing. The
road in front of her led to Jaynagar while the road on to her
left led to Bangalore Medical College and the road on to
her right led to the Krishna Rajendra market. In which
direction the Krishna Rajendra market is located with
reference to the starting point?

A) West
B) North-West
C) South-West
D) East

20) A oM, FHEOT sy TTAR H ST aEA § | TE
3R & X 987 3R $o gl dF & & a6 a5 3R
A AR 4 km =l R TH HIET W GEH | 3HR
TS HT TEh FATAIR T 3R Al oA Safd 3T a1
IR A F5F FAR ARFA Forot H AN S & 3R
38 elfgel 3R HT HSH FUT olg SR H 3R ST
| e3rel f§g @ Fsom oy SR foha feem & Py
g2

A) gfeas

B) 3ccR-gfRea
C) efgror-aftas
D) q
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Section 3 - Naval Architecture

21) Following is/are not a failure phenomenon of ships:-

A) Fatigue
B) Sagging
C) Buckling
D) Tensile and compressive yield

21) AFAfaf@ad # & Sla-ar gl [Aherdr &1 HROT
e B

A) geFTeT

B) fRrfrerar

©) s

D) gegar 3R iz wsa

22) Which of the following particulars have no effect on
Free surface effect?

A) Displacement of ship

B) Geometry of free surface of the liquid in the tank
C) Volume of the tank

D) Density of liquid in the tank

22) farafaf@d & @ fhg YT &1 JFd Fg 9@ W
PIS AT 6T USdAT § 2
A) SeTer &1 faEuTasT

B) &+ & e &1 Fqad dcfe & sAAfT
C) & &1 3maae

D) ¥ # o 1 welca

23) Reynold’s number is ratio of

A) Inertial forces to gravitational forces
B) viscous forces to inertial forces
C) Inertial forces to viscous forces
D) viscous forces to gravitational forces

Page60f15

23) Weifegd H&AT HT 3T 4T §

A) TET To | TFcarHIT To
B) o1t sl ¥ ST el

C) Stecdi 97 & 2Tl 5ol

D) earret &1 & [ecaraRor af

24) Method of testing adopted to identify surface and sub-
surface defects of welding

A) Visual Inspection

B) Radiography Testing
C) Ultrasonic Testing

D) Dye Penetrant Testing

24) dfeser 1 T@dg 3R 39-Adg QN A Ygdld Hel
HfaT 3uas 1S Tdeor fAfYr o

A) Teg faretor

B) Yfzaramdr gdietor
C) sreerafae wleror
D) 218 waerss adiaTor

25) A Carling is used aboard ship

A) As a connecting strap between the butted ends of
plating

B) To stiffen areas under points of great stress between
beams

C) To prevent the anchor from fouling when the brake is
released

D) To provide an extra heavy fitting in a heavy lift cargo
rig
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25) SIgTST W U HIfeldl &I 39T v forw frar Smar
g

A) T & sggs RRT & 9t dAET T & &9
"

B)aﬁnés&ha%uﬁawé:ﬁg&ﬁ%awaﬁaﬁ
HET I BT
C) 3% Y @1 W d9R FF TIT &l & Sa FfaT

D) smdr e At for & wfaRed s R gaw
e HielT

26) Anchor and chain specifications of a ship are based on

A) Admiralty coefficient

B) Equipment number calculation
C) Drag coefficient

D) Ship speed

26) Th ST @1 IR AR H@er Rfady e w
3TaRd g ar §

A) staTgstfasTer ot
B) 3uertor HEAT 0T
C)a;érgruw

D) Srgrer 1 a1fa

27) The list angle at which a ship with negative initial
metacentric height rests in still water is called

A) Angle of list
B) Angle of loll
C) Angle of stall
D) Angle of heel

27) fore Wt 99 W AFRICHS URAS  3Mcclachal
FOTS aTell SIgTeT 39d el & I§aT §, 39 T Fgd ¢ .

A) tarer 30T foree
B) Sarer 31 oiter
C) torer 3itw Terer
D) Sarer 31w &rer

28) According to SOLAS, a bulkhead capable of preventing
the passage of smoke and flame for one hour would be

classified as a/an
A) A-60

B) A-1

C) B-60

D) B-1

28) HIeI & IJAR, U ©C iU 31 AR of & &AW
B Ukl A G&TH Gideld A hg &9 A gofiepa fopar
ST |

A) T-60
B) v-1
C) & -60
D) &r -1

29) In Contra — rotating propellers, to avoid problems with
cavitation, the after-propeller diameter shall be
the diameter of forward propeller.

A) same as

B) smaller than

C) larger than

D) more than twice
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29) FlegT- GUIA AlGHh H, ARHIT H FHATAIN F T
FAT, 3MUeT-sAlceh I, BRAS g AH & fhdell

glam

A) & &
B) & &a
C) ¥ s
D) gepem & amer

30) The typical values for Yield stress and Poisson’s ratio
of Grade A steel are respectively?

A) 330 N/mm? and 0.3
B) 235 N/mm? and 0.6
C) 330 N/mm? and 0.6
D) 235 N/mm?2 and 0.3

30) A5 T el H WiHg Yfdee AR dis@A & 3eard
Sy fafirse AT waA: Far g ?

A) 330 N/mm? and 0.3
B) 235 N/mm? and 0.6
C) 330 N/mm2 and 0.6
D) 235 N/mm? and 0.3

31) Classification Societies allow for a %
weight reduction for the High Holding Power anchors

compared to conventional ones because of their holding
capacity

A) 75
B) 50
C) 40
D) 25

31) gaffaoT TESE YT YRUT &THAAT & HRUT IRURS
SIRT T Jolell # 3T YROT ATFT dTed IR T faveiar
wfderd 9 ges B JregAfT Sar §

A) 75
B) 50
C) 40

D) 25

32) The Performance Standard for Protective Coating

(PSPC) adopted by IMO resolution MSC.215 (82) is
applicable for

A) Underwater coating

B) Painting of dedicated seawater ballast tanks
C) Engine Room coating

D) Painting of accommodation areas & superstructure

32) ASUAT Hehod TATHA. 215 (82) SART HYATT 1T

GIeTcHS A9l Hfav fAsuresT aAete  (frogd) fras
fow =g §

A) Jdstel e oae

B) warer oy STt doree Et Ay dfer
C) g3teT et oueT

D) smarer vt 3 siferee & dfdar

33) A ship trims about its

A) Centre of buoyancy
B) Centre of gravity
C) Centre of floatation
D) Neutral axis

33) STl T fig & Reear oX ugarer & ¢

A) Iccarashdr Fg
B) aeed &k
C) corast &g
D) deey 3e7

34) Normally Camber is of the order

A) B/10
B) B/50
C) B/100
D) B/200
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34) HTATIAAT TohdT (hFaR) I A FIT 8lcl § -

A) & 110
B) & /50
C) & /100
D) & 1200

35) Typical permeability value for Engine room can be

A) 35%
B) 82%
C) 99%
D) 5%

35) 3ol H&T shfow Afse uremgar A fhaem &
e § :

A) 35%
B) 82%
C) 99%
D) 5%

36) A vessel of uniform triangular cross section of length =
100 m, Extreme beam = 12 m and depth = 6 m is

displacing 3030 tonnes in water of relative density 1.010.
What is her reserve buoyancy?

A) 606 m3
B) 600 m?
C) 3600 m3
D) 3000 m?

36) Uh STETSl T SEIS &1 Uh A FRolg equey
Fre = 100 m, WH T 12 m 3R WS 6 m 3MfE=w
gelcd 1.010 & 9=t & 3030 cof faeuf®a & W@r g, ar
39T RSAG cCaraeshdr T gl

A) 606 m3
B) 600 m?
C) 3600 m?
D) 3000 m3

37) In an inclining experiment, when a mass of 20 tonnes is
shifted 12m transversely across the deck of a ship with a
GM of 0.6m it causes 0.25m deflection in a 10 m plumb
line. Find the ship’s displacement.

A) 8000 tonnes

B) 12000 tonnes
C) 16000 tonnes
D) 10000 tonnes

37) Teh gehrd GlEToT #, SIF 0.6m & GM & AU ST
% Sk H 20 T & GogAW F 12 m HIET T F
3ARa fhar ofrar &, Y, ag 10 m @ger ¥@r # 0.25 m

fI8IqUT T FROT §7aT § , A9 ST H faTUIa e
glam :

A) 8000 &=t

B) 12000 @1
C) 16000 &=
D) 10000 &=

38) For deep water gravity waves, the group velocity is
times the phase velocity

A) 2

B) 0.25
C) 0.5
D) 1.5

38) G Ul I I&caleh¥OT TRl iAW, HHg d91, TWOT
QI T TRl [T BIell &

A) 2

B) 0.25
C) 0.5
D) 1.5
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39) What is dynamic stability?

A) Work done in turning a ship using rudder or thruster
B) Work done in inclining a ship

C) Work done in keeping a ship at a particular direction
course

D) Work done by the propeller

39) arfcrelier EuRar = § 2

A) 9qar AT YeIush I 3YANT Fdh Slglel &l HAS @l
Copy

B) Serat Y S & F

C) Sigrer & frel AW e & STrART #F §aw @
T F

D) sees garr fmar m=m +r

40) Which of the following method can be used to reduce
propeller cavitation?

A) Designing the propeller for non-uniform loading
B) Decreasing the cavitation number

C) Increasing the loading of the propeller

D) None of the options

40) e IR H HH I Hiov Hrfaf@a & @
g AfS &1 yIeT foar S Ihar § 2

A) AT TeTS HfAT dAigh F BST Far
B) arfeepraret Fwam wer

C) e T verS FerEn

D) 1§ fepoq A8

41) What is the height of hatchway coamings fitted with
weathertight cover at “Position - 17 as per 1966
International Load line Convention?

A) 360 mm
B) 450 mm
C) 600 mm
D) 900 mm

41) 1966 & HASET WS olged Hoded & 3MAR
qifSereT - 1" W AEANT gar F A1 o gEd HifATH
#r Fars foraer § 2

A) 360 mm
B) 450 mm
C) 600 mm
D) 900 mm

42) Imagine the hull form you are developing for a river sea
vessel is found to have poor directional stability. Which of

the following can be a possible solution to rectify this
problem?

A) Increasing the B/T ratio

B) Increasing the block coefficient
C) Decreasing the skeg area

D) Moving LCB more forward

42) AT AT & 59 g & TT I AT STETSH
ST 31T faRfAd X W/ 8, 397 @9 GemeAs fEerar

o € ¥, A, W THEN B &T A AU At
H T Fla-ar genfad gAYy & dhdr § ?

A)B/Taa?orm?raam
B) it aqotieh aarem
C) &1 &7 "eren
D) wordier & 31T 3mer soEr

43) Which of the following is ITTC 1957 friction formula for
Cre?

A) 0.075/ (log1o0Rn-2)?
B) 0.075 / (logioRn-3)?
C) 0.75 / (log10Rn-3)3

D) 0.075/ (log10Rn-2)3
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43) fAFafaf@a & @ CrHfAT MSEE 1957 a¥or ¥
FIT g ?

A) 0.075/ (log1oRn-2)?
B) 0.075 / (log10Rn-3)?
C) 0.75 / (log10Rn-3)3

D) 0.075 / (logi0Rn-2)3

44) For a loaded beam of circular section, which of the
following is true regarding the shear stress in the section?

A) The maximum shear stress will be 4/3 times of average
shear stress

B) The maximum shear stress will be m/2 times of
average shear stress

C) The maximum shear stress will be 2/ times of
average shear stress

D) The maximum shear stress will be 3/2 times of average
shear stress

44) ek IR=DE & ARG <A Hfdw, G5 & HGwTor
gfdee & oy & Fefafad & @ ala-ar sy @@l § 2

A) 3fwar Iawaur gfdse, A 3Owaer 9fded #T
4/3 [T grem

B) s1frgd 3awqur gfded, 3itad 39w gfded @
/2 (AT 19

C) sfRear 3rgwvor ufdes, 3iEa 3r9w9or gfdee &1
2/ (AT 1

D) 31feirad 3awqur gfded, 3itad 39wqur gfded &
3/2 9T g

45) Which of the following would be same for a ship model
used for model testing and a corresponding full-scale ship?

A) Residuary resistance

B) Frictional resistance

C) Coefficient of residuary resistance
D) Coefficient of total resistance

45) Alsel qfefor 3N FERIT Pl Thel e HiAT
39T fhT Fare STElel Alsd Sl Heafai@ad & O
FIT HATT G ?

A) 3rafdrse gferer

B) efur gfarer

C) srafiree ferer a1 aqoTia
D) grer wferier a1 ot

46) The unit of Energy Efficiency Design Index (EEDI) for
cargo ships is

A) Tonne CO:z/ voyage
B) g CO2/ (tonne * nm)
C) g COz2/ tonne

D) g GHG emissions / nm

46) AT STEGl HfAT FoAT gafar Basd  gEdih
(353137g) T SIS FAT

A) & CO. | digssT

B) g CO2/ (ST * nm)
C) g co: feat

D) g GHG sfA=d / nm

47) When a vessel of 5000 tonnes displacement and KM =
7.7 m is inclined by shifting two weights of 5 tonnes each
by 10 m, it is noted that the mean deflection of a pendulum
of 5mlong is 10 cm. What is her KG ?

A) 7.2 metres
B) 6.7 metres
C) 5.6 metres
D) 6.2 metres
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47) T STgIeT it 5000 o faeamosT 3R KM= 7.7 m&
Ydh 5 Tl & & HRI # 10 m @ AR FH g
g3 &, 3R Ig W1 A ¥ & 5 m e GgerA o 3iEd
fF&quT 10 cm §, dI, 38T KG &1 89T ?

A) 7.2 metres
B) 6.7 metres
C) 5.6 metres
D) 6.2 metres

48) What does MARPOL “Annex VI” stand for?

A) Regulation for the Prevention of Air Pollution from
Ships

B) Regulation for the Prevention of Pollution of Oil

C) Regulation for the Prevention of Pollution by Sewage
from Ships

D) Regulation for the Prevention of Pollution by Garbage
from Ships

48) ARG “3teq VI &7 3T Far & 2

A) SETet & arg guer A Jware Haw RAfagee
B) der & wguur T qpurA Hfaw RAfvawe

C) Sgreit @ dIdsl @RI YeuUl & JHAH Hfaw
[CIGEEGE

D) seret & FEr-Her gaRT Sguur I JwAH Hfw
[ElGREo)

49) During docking of ships, metacentric height

....................... during initial contact of ship on keel
blocks.

A) Remains same

B) Reduces

C) Increases

D) None of the options

49) STETSlt & SMehdT & &I, dIoT sellhl W SIgrel &
YIRS TU& W IHCaadd) Fars Har gl

A) g gt

B) geaf

C) st

D) g e A8

50) For ships not less than 55m in length, the view of the
sea surface from the conning position shall

A) Not be obscured by more than one ship length or 500
m whichever is less

B) Not be obscured by more than two ship length or 500
m whichever is more

C) Not be obscured by more than one ship length or 500
m whichever is more

D) Not be obscured by more than two ship length or 500
m whichever is less

50) 55 m ¥ FHHA dsdlel SIglel $ia¥, i Tafd &
THg dI T F TT HA gl AT :

A) T § 3% STgTer Y e a1 500 m S oY FA E
q 3ETse FAG gle =T

B) g1 & 31fOe Sterer 7 &S a1 500 m & 3R S o
3w g, ¥ 3aSe A g TIfRT

C) v @ 31 Sigrer T oarS a1 500 m S o RS
g, ¥ 3aSC @ g aifev

D) a1 & 31 Stgrer & o ar 500 m S S FA g
¥ HETST TG gl AT
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51) What is the definition of Load Line length?

A) Length in meter measured at 96% of the total length on
a waterline at 85% of the least moulded depth.

B) Length in meter, measured on the waterline at the
scantling draught from the forward side of the stem to
the centre of the rudder stock.

C) Length in meter measured on the summer load line
from the fore side of the stem to the after side of the
rudder post.

D) Length in meter measured on the static load waterline
from the foreside of the stem to the after side of the
stern or transom.

51) i3 oS &1 odls ST RS &7 § 2

A) AT FIaTS, FeRET W FA was F 96% W AT TS
FH ¥ FA ol §S TeUs & 85% T AT ST §
B) AT WS, ®H & 3T HNET ¥ TG Th & g dh

Thefdlar e WX STk 9 AT S §
C) A 1S, ©H & 30T & 3N T T O & D
T IR FFER dls o W AT S §

D) A oiaS, T & 3T HET ¥ TeoT AT TEA & D
Fr 3R T HAR FToR@T ] AT AT &

52) When a ship’s rudder is put over to port, steady heeling
angle of turn will be to

A) Port

B) Starboard

C) There will not be any heel
D) None of the options

52) SId SIS & UddR & Yoded G o AT ST g, ar
38% fadee &1 AT §ifcier ot &= g ¢

A) geaer

B) werats

C) 1§ sgora w7t g
D) 1§ fepoq A&

53) A vessel moving in a river is moving downstream along
a tidal river from Point A to B during high tide. The river is
subjected to a tidal current of 1.0 knots and a river current
of 2.0 knots. The vessel is capable of achieving a
maximum speed of 16.68 km/hr in calm water with no
currents. The distance from A to B is 10 nautical miles.
What is the minimum time for travelling from A to B in the
above condition?

A) 1.25 hours
B) 1.0 hour
C) 2.0 hours
D) 1.66 hours

53) Ush oAdl # AfAAET T FeT 39 AR & N foig
T A TF UF FARY AT & GY I9ArE AR §
W& | A 1.0 T e i sader awr AR 2.0 T
Hrar & 7T 9RT & el § | Sere foer T 9nT &
T STl H 16.68 fhaA/ge &r 31fehdar a1fd grod aat
AFIAL | T AW H Q10 G4 AT § | IHRFT
Rufd & ‘T @ & o IET e F o GeAdH FAT foheter
grem?

A) 1.25 &
B) 1.0 ger
C) 20w

D) 1.66 e

54) What is the maximum bending stress (in MPa) for a
steel structural member with the following given
parameters?

i.Moment of Inertia about neutral axis: 10,000 mm#

ii.Distance of neutral axis from base of cross section: 10
mm

iii.Bending moment: 100,000 Nmm

A) 235 MPa
B) 100 MPa
C) 1000 MPa
D) 10 MPa
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54) fAFATaf@d ATIEST & AT STATT TIGAT AN el

JfRdA dheT gfded fhaar & 2
i.dCEYT 38T T SIsScd 'EI'U‘r(\ : 10,000 mm#

ii.37IFY P & T H TEY IHeT AT g 1 10 mm
iii.§ehet 3MTEET : 100,000 Nmm

A) 235 MPa
B) 100 MPa
C) 1000 MPa
D) 10 MPa

55) A ship with a displacement of 10000 tons, length of
100m, GMr of 1m and GM. of 10m will be having an ‘MCT

1cm’ of

A) 0.1 tm/cm
B) 1 tm/cm
C) 10 tm/cm
D) 100 tm/cm

55) Teh STgTel &l 10000 &1 faTamas, 100m & &«rs, 1m

F GMT 3R 10m & GML & @1y &, 391 ‘MCT 1cm’
fha=T 819 :

A) 0.1 tm/cm
B) 1 tm/cm
C) 10 tm/cm
D) 100 tm/cm

56) Which of the following is false regarding the resistance
characteristics of a ship?

A) The main hump in a resistance curve occurs at a
Froude number of close to 1.0

B) Wave resistance increases with increase in B/T

C) With increasing L/VY3 for constant displacement, the
residuary resistance decreases

D) In shallow water - as the speed approaches the critical

speed, a significant amplification of wave resistance
occurs

56) STETST &1 TTeRIer faoen3it & IR # Hefai@d Hia-
AT HYT TeId  § ?

A)qﬁﬁwa%ﬁﬁmsmtoa?a?ﬁammw
gar g

B) B/T % 3gfr & @y a’er wfader qear §

C) PR eume Ffaw LVR sea & @1y, 3@aferse
iRy el g ST §

D) 3o et F - S S afa wifaw afy & Fe
AT &, AL I T Teh AgeaqoT Jadiel giam &

57) A propeller of 4.5 m pitch turns at 120 rev/min and
drives the ship at 15.5 knots. If the wake fraction is 0.30,
find the apparent slip.

A) 4.5%
B) 11.38%
C) 41.2%
D) 2%

57) 4.5 m 3Tl &7 Alge 120 rev/min 9 AT g 3k
15.5 HHAT Ao W STgrel diferd gl & | I deh shrerere
0.30 &, @, 3Wec BT e ghem :

A) 4.5%
B) 11.38%
C) 41.2%
D) 2%

58) Transverse stability of the underwater crafts is
determined by

A) GM to be positive
B) BM to be positive
C) GB to be positive
D) KB to be positive
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58) 3icTolel AT &I IIIEY TEURAT de AR & el 60) Uesh STgToT feRlicAsh §9 & e &R gl &
T
A) g e 3 St & are fRer o Reem i v

A) GM dTferéla grem & AT W G ST Fehel §

B) BM giforéla g B) ag et i amemit & g A Gwr F e @
C) GB difsda g A T G ST Fehell §
D) KB ST BT C) 7z SommT & smemit & a5 Rl o Rem & e
WY AT W G AE S FHAT §
D) 1§ faeheq €T

59) A ship of 6000 tonnes displacement, floating in salt
water, has a double bottom tank 20m x 12m x 2m which is
divided at the centre line and is partially filled with oil of
relative density 0.82. Find the virtual loss of GM due to the
free surface of the oil.

A) 0.522 m
B) 1.278 m
C) 0.098 m
D) 0.057m

SQ)WWﬁéﬁgmeoooaﬂﬁxwmwm
WWWWE‘?ZOmXQmXZm%Gﬁ%W
W fFenfag § 3k 3nfe &7 & 9deT ga9ca 0.82 & A

¥ T & | Ol N HFT TAg & HROT GM HT T
qhdTeT FAT g

A) 0.522 m
B) 1.278 m
C) 0.098 m
D) 0.057m

60) A ship is directionally stable when

A) It can resume a straight line in any direction after a
disturbance to the course

B) It can resume a straight line in the original direction
after a disturbance to the course

C) It cannot resume a straight line in any direction after a
disturbance to the course

D) None of the options
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Answer KEY:- NA

Question No. Answer Question No. Answer Question No. Answer
1 A 21 41
2 C 22 42
3 D 23 43
4 A 24 44
5 A 25 45
6 D 26 46
7 C 27 47
8 B 28 48
9 B 29 49
10 C 30 50
11 D 31 51
12 B 32 52
13 A 33 53
14 D 34 54
15 C 35 55
16 D 36 56
17 A 37 57
18 B 38 58
19 B 39 59
20 B 40 60




